Problem G:
RIEDZNEKEBEA

RIRE{ERL: /A
fREAERL: N -E1E
fi# e /e - B R



kK OFF?

**CENSORED***



I
R
iz

H2: 63
FH 41
FA: 36
D 1EfRA

P REN S A (25%7)




] AR
KA LUT2)E BITREA] 0 (2 XA 5

I ON&E 2 T2 E B 238 1 U725 213 XRD RS
7272 L Y BPLLPNICRL A TNz B R E 7220

)5 BDNLEHE T 5 £ TORRZ KO K






] R A

t=20
NS o Lo ERE T ‘
BT
WhHoo LoWEHZ
AT B

—

[b Eobm ih\_ ‘




] R A

‘ t =X

WHo LoWnWEHZ
AT BT

WHoS LOWEHRZ
‘ AN HIX




] R A 2




X<YD B

SN

=AY NN A N RVEL-1BE CIA Y

B 1 ZELVED




**CENSORED***






















X>=Y DR

] U A 2325 E R ET 5

DN DM OOEEHDE 3218 0 LA

FDOELEEISEILV—THNH

/1

KD

AL, —13E P CILE

ERCYNEACEUINESAARY

AU RSN 1= S R



T XN

X<Y
REZIXICHE A TZTE B 5
HERR L —
AYALA
B 21307
X>=Y

HEFR L — 713N D T— B < LS A AR
e B o PR 3R



B A
e

0 77 7 OHERL : 0(n?)

o TEESCEEER - 0(n+tm)  where m= |E|

0 FEH B RVHEE - 0()




23 F TIZ

77 7 OER%IE 0(nlogn) THAE

PR E 2 O
FiIm=0(n)

JiE B DFEENREE DT, B Ll

=2 EBN IR = B
LB = EEXTERE

Vi =

3




